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QUESTION 71Which three statements about the designated router election in IS-IS are true? (Choose three.) A.

If the IS ISDR

fails,anew DR iselected.B. ThelSISDR will preempt. If anew router with better priority is added, it just becomes active in the

network.C.
with ahigher MAC address wins.E.

If thereisatiein DR priority, the router with a higher 1P address wins.D.
If the DR fails, the BDR is promoted asthe DR.F. The DR isoptional in a point-to-point

If thereisatiein DR priority, the router

network. Answer: ABD QUESTION 72Which three elements compose a network entity title? (Choose three.) A.  areaIDB.

IP address Answer: ACD QUESTION 73Which statement about
shaped round robin queuing istrue? A.  Queues with higher configured weights are serviced first.B. The device waits a period of
time, set by the configured weight, before servicing the next queue.C. The device services a single queue completely before
moving on to the next queue.D. Shaped mode is available on both the ingress and egress queues. Answer: A QUESTION 74Refer

domain IDC. systemIDD. NSAPselectorE. MAC addressF.

to the exhibit. Y ou discover that only 1.5 Mb/s of web traffic can pass during times of congestion on the given network.
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interface FastEthernetl
description -
ip address 209,
service-palicy
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Which two options are possible reasons for this limitation? (Choose two.) A.  The web traffic class hastoo little bandwidth
reservation.B. Video traffic is using too much bandwidth.C. The service-policy is on thewrong interface.D. The service-policy
isgoing inthewrong direction.E. The NAT policy is adding too much overhead. Answer: AB QUESTION 75Refer to the exhibit.

Which statement about the debug behavior of the device is true?)

San_Toesefshov debug

Si0ai ol B vanperSk il il sons - S a D e £ive

Conditiom l: ip 172.1€.128.4 10 flag¥ Criggered)

aimuces;

Sl sgut b 0 o WL (o Mo 58 o8 £ Vot s 503D _'J

A. Thedevicedebugsall IPeventsfor 172.16.194.4.B. The device sends all debugging information for 172.16.194.4.C. The
device sends only NTP debugging information to 172.16.194.4.D.  The device sends debugging information every five seconds.
Answer: A QUESTION 76Refer to the exhibit. Which statement about this device configuration is true?

snmp-server community public BO 2
SnEp-server trap-source Loopback0
snmp-server chassis-id HINGRONG
snap-server enable traps snep linkdown lin
FSinpr gardl e anatlle, sraps ospt $€Sce ghange
-Gkl shbde L bl by rJ_’i .
SnEp-SeIver ehable traps pik nel T-chan
symp=server enahle traps cpu threshold
shap-server enhable traps mpls ldp
snmp-server host 192.1£8.252.254 version 2

A. The NMS needs a specific route configured to enable it to reach the LoopbackO interface of the device.B. Theifindex of the
device could be different when the deviceisreloaded.C. The device will allow anyone to poll it viathe public community.D. The
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device configuration requires the AuthNoPriv security level. Answer: B QUESTION 77Which three steps are necessary to enable
SSH? (Choosethree)) A.  generating an RSA or DSA cryptographic keyB. configuring the version of SSHC. configuring a
domain nameD. configuring VTY linesfor use with SSHE. configuring the port for SSH to listen for connectionsF.  generating
an AES or SHA cryptographic key Answer: ACD QUESTION 78Which two features does the show ipv6 snooping features
command show information about? (Choosetwo.) A. RA guardB. DHCPguardC. ND inspectionD. source guard Answer:
AC QUESTION 79Refer to the exhibit. Which two statements about how the configuration processes Telnet traffic are true?
(ChOOSE tWO-) Rl#sh policy-map contral-plane

Service-policy input: CoPP-POLICTY

Clasy-map: CoPP-CLASS (macch-all)
8 packets, 480 bytes
5 minute offered rate O bps, drop rate O bps
Harch: access-group name RS-TO-RI
pelice:
eate 10 pps, buest 0 packers
conformed O packets: acticns:
- - drep . C ] .
= r. ! . e v o [
Dranttimp<go.com
qTp o =
conformed 0 pps, exceed O pps

Class-map: class-defaule (match-any)
925 packets, 0£195 byres
5 minuce offered rave O bps, drop rate O bps
Match: ary

ERlish access-lists

Extended IF access list RE-TO-RI
10 permic tep hoat 10.1.1.9 hoat 10.10.10.1 &g telnec (4 macches)
20 deny top any any eq telnet (% matches)

A. Telnet traffic from 10.1.1.9 t0 10.10.10.1 isdropped.B.  All Telnet trafficisdropped.C. Telnet traffic from 10.10.10.1 to
10.1.1.9 ispermitted.D. Telnet traffic from 10.1.1.9 to 10.10.10.1 is permitted.E. Telnet traffic is permitted to all 1P addresses.
Answer: AC QUESTION 80Which three statements are functions that are performed by IKE phase 1? (Choose three.) A. It builds
a secure tunnel to negotiate IKE phase 1 parameters.B. It establishes |Psec security associations.C. It authenticates the identities
of the IPsec peers.D. It protects the IKE exchange by negotiating a matching IKE SA policy.E. It protects the identities of 1Psec
peers.F. It negotiates |Psec SA parameters. Answer: CDE !''RECOMMEND!!!  2016.07 Braindump2go Latest Cisco 400-101
Exam PDF and VCE 1119Q& As Instant Download: http://www.braindump2go.com/400-101.html [100% Rea Questions
Guaranteed!] Cisco 400-101 Exam Questions PDF - Google Drive:
https://drive.google.com/folderview? d=0BwwEErkugSal. bUR5WjhsemNKY 00& usp=sharing
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